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a. The temperature rises by 15 degrees from -4°C. What is the new temperature?

b. The temperature falls from 11°C to -2°C. How many degrees does the temperature fall?

c. The temperature is 6°C. It falls by 8 degrees. What is the temperature now?

d. The temperature is -3°C. How much must it rise to reach 5°C?

e. What is the difference in temperature between -4°C and 14°C?

f. The temperature was -5°C. It falls by 6 degrees. What is the temperature now?

. The temperature is -11°C. It rises by 2 degrees. What is the temperature now?

h. The temperature is 20"

How much must it rise to reach -5°C?




